Example 1 127 = 1/17 - 21a7 - 1/37 1B7= i117+ 2137 = (11) to + 2137 =) add a spot for the 127 state with a Coefficient of Zero Let's convert lat + (B) into Vectors where the first element is the coefficient of 117, the second element is the coefficient of 127, a the last element is the Coefficient of B> Complex Conjusche Now to find (2) 2 (B) we take the $\frac{1}{2} \frac{1}{2} \frac{1$ $(B)^{+} = (B)^{+}^{+} = (-i \circ a)^{+}$ Now we need to cleck to see if each state is normalized by square rooting the inter product of each state With itself $\begin{array}{c} \text{magnitude} \quad |d7: \sqrt{\langle 2/ b \rangle} = \left(\begin{array}{c} -c \\ -2 \\ -c \end{array} \right) \\ \end{array}$ inter product is dot product = J-ili -2(-2) + il-i) = J-(-) + 4-(-) = Jo => not l so la> is not nemalized

Now let's see if $|B\rangle$ is normalized 2 if it is not then we will normalize it mognitude of $|B\rangle$: $\sqrt{B|B} = (-i \ 0 \ 2)/i$ $= \sqrt{i(-i) + o(0) + a(2)}$ $= \sqrt{-(-i) + u} = \sqrt{5}$ not |50 $= \sqrt{-(-i) + u} = \sqrt{5}$ not |50 $|B\rangle = (-i)\sqrt{B} + (-i)\sqrt{B} = (-i)\sqrt{5}$ $= \sqrt{-(-i)}\sqrt{B} + (-i)\sqrt{B}$

Remember that we always want to ensure that our wavefunctions are normalized after we find the ket and bra because the coefficients are related to the probability of the wavefunction collapsing into each of the basis states

Now that we have $\langle \mathfrak{F} |$ and $\langle \mathfrak{F} |$ as bra vectors, we want to convert them back into a sum of the basis stats as the kets were given. We will do this by making the first element the coefficient if the $|l\rangle$ state, the second element the coefficient of the $|\mathfrak{F}\rangle$ state, and the final element the coefficient of the $|\mathfrak{F}\rangle$ state.

 $\begin{array}{cccc} \left(\begin{array}{c} -2 & \underline{i} \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \right) = \begin{array}{c} -\underline{i} \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \\ \overline{b} \end{array} \right) = \begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \right) = \begin{array}{c} -2 \\ \overline{b} \end{array} \left(\begin{array}{c} -2 \end{array} \right) = \begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \right) = \begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \right) = \begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \right) = \begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \right) = \begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \right) = \begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \left(\begin{array}{c} -2 \end{array} \right) = \left(\begin{array}{c}$ Note that the basis states must be vectors

 $\begin{aligned} \left(\frac{1}{\sqrt{2}}\right) &= \left(\frac{1}{\sqrt{2}}\right) &= \frac{1}{\sqrt{2}}\left(\frac{1}{\sqrt{2}}\right) &= \frac{1}{\sqrt{2}}\left(\frac{1}{\sqrt$ Now to compute $(2|B) \ge (B|d)$. Here we will want the states in their vector form $(2|B) = \begin{pmatrix} -i & -2 & i \\ \sqrt{6} & \sqrt{6} & \sqrt{6} \end{pmatrix} \begin{pmatrix} i/\sqrt{5} \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} i/\sqrt{5} \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} i/\sqrt{5} \\ 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix}$ $= \frac{-i}{\sqrt{n!}} \left(\frac{i}{\sqrt{2!}} \right) - \frac{2}{\sqrt{p!}} \left(0 \right) + \frac{i}{\sqrt{2!}} \left(\frac{2}{\sqrt{2!}} \right)$ Droduct $= \frac{1}{\sqrt{30^{1}}} + \frac{2i}{\sqrt{30^{1}}} = \frac{1}{\sqrt{30^{1}}} + \frac{2i}{\sqrt{30^{1}}} = \frac{1}{\sqrt{30^{1}}} + \frac{2i}{\sqrt{30^{1}}} = \frac{1}{\sqrt{30^{1}}} + \frac{2i}{\sqrt{30^{1}}} + \frac{2i}{\sqrt{51}} + \frac{2i$ $= \frac{-c}{\sqrt{5}} \left(\frac{c}{\sqrt{5}} \right) + 0 \left(\frac{-2}{\sqrt{5}} \right) + \frac{2}{\sqrt{5}} \left(\frac{-c}{\sqrt{5}} \right)$ $- 1 + - \frac{1}{3i} = \frac{1 - 2i}{\sqrt{3i}} = \frac{1 - 2i}{\sqrt{3i}}$

Futurmere from the above results note that (Bld) = (213)" => this is a general Finding for all inter products!